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(MINLP) min f(z,y)
s.t. g(z,y) <0,
reXCR", yeY CZ™

MINLP = Mixed Integer Non-Linear Programming
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S={(z,y) e X xY | g(z,y) <0}

V = {y € Y | thereexists x € X such that g(x,y) < 0}.
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23 (Sl 020 T @alsl y3 4S) NLP(V') dliume dinge olo= 1) x7 « 37 €V lade glp0

(NLP(y)) min f(z,y)
s.t. g(z,y) <0,
r € X.
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min f(x,y)

1WCaigd Olgd o0 1) O g0 4 1) MINLPI Joe

_ . . i i <0
;}ﬁéggg;g{f(w,y ) | glz, ¥*) < 0}

. . - B . —_— i
= minmin f(z*,y") 4 V* f(ﬂl*,y*)(m } )
yev 0

P, i
5.b. g(m,y)JrVg(rc,y)( 9 )EU
re X

min min o (13.4.
yrev
, . . . T — X
st 2 flzhy') + "Tf"Tf(:ﬂ‘.yr"‘)(”L 0 ’ )
. i
02 g(a',y") + Vg(m*,y*)(£ D‘E )

1
re X,a€ R, ¢
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T = {i|y" €V and 2" solves (NLP(y'))}.
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s.t. ;Bzgi(xay)? iz]"“'?q’
ze X,

Ol Olg> So NLPE(y') 51594 = NLP(y') Joe Sr2L Ol 4 e y'
OlSel sLad jl v’ B3> o) ) Cudgame O g ol oo bbb sy f5>0 o

oS 0 LS| MOAV 3y

. . ;{;u_g_';i _
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L T i 1 ey
st a> f(z',y') + V' (', y") Y — i 5 1€ T
02 g(z",y") +VT9(x*,y“)(z_z), L& T}
i T ¢ % 3§ r — & .
02g(z"y')+V g(x,y)(y_yi),zef‘,
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MOA Jams 40 4d> ju 40 4> po Oo)9mo 4 98 U o Cudgomme &S (] 4 4255 L

Do go gl ) O go U Joe 1M gl o LA

(MOAg) min «
T z—at) k
N;a>ﬂwy)+vj1,y)y_ﬁ,zeT,
T xr — .’?Zi . k
0> g(«',y") + Vg (,y)y_w,zeT,
0> alzt. o) - VT ozt o r -t ok
2 g{z',y") + gﬁ,y)y_yé,ze :

reX,yeY,acR,

= {i|y* € Vand 2’ solves NLP(y%), i =1,...,k},
PR — {i | NLP(y") is infeasible and z* solves NLPF(y'), i = 1,... k}.
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Lingy Olg=> 908 Jo ) NLPF (") dlins o399 3L 0lSal NLP(vF) Sl (0
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9 39T ) (& "7 p 5 ) Oloz 9 3iiS Yo |) MOA, dlicunss ¥ LS
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Outer 9y 4= ) p=) Blite s dos B3 jut (55— ) 4ol o Jo—e UL

2wS J= Approximation

min f(z,y) = by — 2In(z + 1)

st gu(my) = o2 = (1/2)fF— 1 <0,
gz, y)=-2In(z+1) -y + 2.5 <0,
gz, y) =z+y—450,
z € [0,2], y € [1, 3] integer.
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min  5y° -2In(x +1)
SI.

e”? —é.\/y_k—li: 0

2In(x +1)-y“+2.5<0
x+yf-4<0
X 6[0,2].

yl =1:LB =—0:UB =40 T =T:F* =0 :\ Ic.'nl’S#'

23S J> YNLP(y ") dias ¥ o8
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min [

si.

B=e?—15
f=>"2In(x +1)—-1.5
p=x -3

X E[U,Z]
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min o
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0>e%%2 _0.51—1 +(0.Se 0982 _() 5 1)[’“ - ”-%J

NI

_ - —0.98
0>2[n(1.98)1+2.5+[ 2 11] ! .
098+1 y —1
X 0.98]

y =1

0>0.98+14+(L1)(

x €]0.2].y €[L3].int
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SI.

Dgd o0 2 ) )90 U ($90 Jde 220 20l

0>-0417+0816x —0.25y

0>2.1236-1.0lx —y
0=>2-4+x +y
X 6[032],); E[l,.’?’:],int

x?=01224;y =2 =—

a2 ) D)ge0 4§99 U dingr lg

0. LB =—w
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Tl po 3y Ol Ols=> sbils NLP(y°) Jxe 7 =2 lp:¥ Iolg'

min 10—2In(x +1)
SI.

e —05J2-1<0
—2In(x +1)—2+25<0
x+2-4<0

x €[0,2]
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min f

SI.
B>e"?—0.5J2-1
F>-2In(x +1)+0.5
p=x =2

X E[G;Z]

B =-0.3855x =0.557

b Canwl ol §99 Joe dir Sls>
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Jome Yo .l 23 OLSGl NLP (3 7) Jame 13 Cual omtio [ 4S pl 4 495 U

min 10—2In(x +1)
St.

e’ —0.5J2-1<0
Dln(x +1)-2+2.5<0
x+2-4<0

x €[0.2]
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x?=1.069;f (x*.y*)=8.545=UB"

UB =min {+,8.545} =8.545 > (x ",y ) =(1.069.2):T* = {2}
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(0>-0417+0.816x —0.25y
F'=10>2.1236-1.01x —y
0z—4+x+y

x €[0.2].y €[L3].int

0::3.069—4+(1,1)[

0> 1069 0. :h/_ l—l—[ ;)61.059'*

0>-2In(1+1.069)—-2+2. ‘3+(

—2
1.069+1

|

0‘3—

231

2 ﬁ) X
1.069+1"

h

DS o ) MOA Joe Y lolf‘:'

—1.069
y =2

(x —1.069

g

Ly -2

x —1.069
y =2

|
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x*=1.0692:y° =2:a" =8.545=LB° =UB =8.545

b g (7.1 7)=(1.069,2) &yseo 4 4S pow) dingr sz 4 13
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